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If s=1, (1) = %+ %+ % + -+ it s Divergence(%#4).
If s>1, e(s) is Convergence(#L %L).

1
e(s) = T +

101 1 2
For example,e(2) = st tge= %

If s<1, we guess it 1s Divergence.

But when s=-1, e(—1) = ;—21
s=-2¢e(—-2)=0
s=3,6(—3) = —
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When s>1, s € R, {(s) =z + =+ + - (R1)

When s#21, s €C, ((s) = dX (2.2)
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https://www.voutube com/watch?v=4vbcC4TcMGc
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https://kknews.cc/zh-tw/science/op4ik26 html
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https://www.youtube.com/watch?v=kgsDeWjppYU&t=380s
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https://www.youtube.com/watch?v=T93SayXhw2w
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https://kknews.cc/zh-tw/science/op4jk26.html
https://zh.wikipedia.org/wiki/%E8%90%8A%E6%98%82%E5%93%88%E5%BE%B7%C2%B7%E6%AD%90%E6%8B%89
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http://episte.math.ntu.edu.tw/articles/mm/mm_04_4_26/index.html
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